SUBTRACTING UP TO 1 000 000 WITH CARRYING (H - SET 2)

SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

81 275611 — 16279 =

2 747790 — 194254 =

183) 356974 — 96291 =

151 889670 — 9561 =

5 950682 — 695580 =

156) 275386 — 237499 =

187 880038 — 832552 =

188) 647327 — 49997 =

189) 346424 — 82168 =

190) 618854 — 139500 =

1) 780402 — 490691 =

192) - 343880 — 73062 =

193 962105 — 322007 =

101 808394 — 462320 =

195) 972639 — 304767 =

Mathematics: Subtraction - Level 8 - Horizontal - Set 2
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688758 — 131620 =

564241 — 1795 =

246218 — 42932 =

967277 — 37604 =

589707 — 454878 =

502271 — 46498 =

993689 — 800894 =

303458 — 98253 =

402446 — 48221 =

848445 — 650180 =

330558 — 169481 =

428376 — 122567 =

978310 — 497000 =

376789 — 122299 =

840296 — 770900 =
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